
 
 

History 

Year 12 assessment map 

Year 12 T1  T2  T3  T4  T5  T6  

  

  

  

  

Knowledge 

assessment 1 (%) 

(T1) 

 

Summative 

assessment:  

 Knowledge style 

question (South 

Africa)  

 

 USA 

 How far do you 
agree that 
Hoover’s policies 
that lost him the 
1932 
presidential 
election?  

 Baseline 

 

 

Knowledge 

assessment 2 (%) 

(T1, T2) 

 

Summative 

assessment:  

 Knowledge style 

question and 

source style 

question (South 

Africa)  

 

 USA 

 How far do you 

agree that the 

Cold War was 

the most 

significant factor 

in the changes in 

the presidency 

in the years 

1917-80? 

Knowledge 

assessment 3 (%) 

(T1, T2, T3) 

 

Summative 

assessment:  

 Source style 

question (South 

Africa) 

 

 USA 

 How far do you 
agree that the 
aims and 
methods of 
black American 
civil rights 
activists in the 
years 1955–68 
were radically 
different from 
those of activists 
in the years 
1917–55? 

 

Knowledge 

assessment 4 (%) 

(T1, T2, T3, T4) 

 

Summative 

assessment:  

 Knowledge style 

question and 

source style 

question (South 

Africa) 

 

 USA 

 How far do you 

agree that 

women had 

made significant 

gains in their 

fight for equality 

by 1980? 

 

Knowledge 

assessment 5 (%) 

(T1, T2, T3, T4, T5) 

 

Summative 

assessment:  

 Knowledge style 

question and 

source style 

question (South 

Africa) 

 

 USA 

 Was the Second 

World War the 

main reason for 

post-war 

affluence in the 

1950s? 

 

Knowledge 

assessment 6 (%) 

(T1, T2, T3, T4, T5, 

T6) 

 

Summative 

assessment:  

 Knowledge style 

question and 

source style 

question (South 

Africa) 

 

 USA 

 Interpretations 

question. 

 How far do you 

agree that 

Reagan’s 

economic 

policies 

strengthened  

the USA economy 

in the years 

1981-1996? 

 

 

  


